F1_S0RLDHRE DB ERMBHE
L i

I =it
L HE ®EE P ®H HEA P
A 70 294 182 473
¥ & 544 + 2.7 546 + 27 0N 545 + 28 546 = 27 0.99
BEk com 1673 = 5.9 1686 + 6.1 0.13 1544 *+ 55 1564 £ 50 <0001
HE kg 65.1 =+ 7.8 664 £ 98 032 545 + 80 534 + 79 0.12
BMI__ kp/m’ 233 + 28 233 £ 30 091 229 + 31 219 + 30 <001

BMI = body mass index



£2 pALHEAONEROBEROIHHL-YORERIERE (Ex{E)

#E (n = 70) HEA (h=294) p
IRIIF— kcal 2648 *+ 710 2330 + 702 <.001
F=AIE<E g 883 + 273 835 + 30.2 0.22
e -AE<HE g 491 + 193 50.1 + 242 0.75
Wit AEE £ 392 + i1 334 + 110 <.0001
B g 61.1 + 216 602 + 237 0.77
3t e g g 327 + 138 324 + 152 0.87
EmttiEE g 283 + 102 2717 + 128 0.72
ok b g 155 + 6.2 150 * 62 0.55
— i A RN AE BH Bk g 211 + 78 215 + 88 0.73
ZEF s g 163 =+ 55 154 + 66 0.29
¥, (A g 375 * 1126 291 =+ 1033 <0001
Lafk g 79 = 6.2 86 * 62 0.38
Fiba—) g 292 =+ 268 381 =+ 440 0.10
X g 2491 + 636 2451 =+ 751 0.68
FhUyS L mg 5498 + 1389 5450 =+ 1719 0.83
ULy FN mg 2565 - 765 2756 =+ 957 007
i) B I N mg 541 + 227 544 + 236 0.94
K do - STy I mg 306 + 86 206 + 97 0.42
15 mg 1296 * 405 1228 + 434 0.24
£% mg 83 + 24 86 *+ 3.1 0.43
Hmgn mg 108 + 33 97 + 33 0.02
£ mg 16 + 05 14 *+ 05 <001
Ty mg 45 + 14 41 + 14 0.01
LF/—iL 1e 456 + 373 468 + 488 0.85
hoasF ug 2042 + 1219 3548 + 2190 <0001
E&23IA 1t gRE 794 + 463 1055 *+ 656 <01
432D e 166 + 98 151 + 109 0.29
E43E mg 88 + 30 95 + 42 0.21
EA3K e 378 + 162 434 + 203 0.04
E4228; mg 09 =+ 03 09 =+ 03 0.46
E432B, mg 14 + 05 15 + 05 0.31
FATI mgNE 203 =+ 69 21,7 =+ 85 0.22
E432VB, mg 15 = 05 16 * 06 0.57
E432B;, He 132 =+ 65 123 * 17 0.34
RN e 304 + 108 3711 * 156 <.001
NINTFUB mg 75 + 24 7.3 = 24 047
E432C mg 84 + 33 122 + 56 <0001
aLAFa—in mg 3789 + 1664 390.1 =+ 1917 0.65
KBRS g 24 =+ 08 31 x 14 <.0001
FTREESEH g 89 + 27 95 =+ 34 0.17
LA D g 116 + 36 128 =+ 49 0.04




#£3 BHEIHAAOOEROXED1AH-YOREFRIERE GExHE)

FHE (n=182) HEBA (n=473) P
IARNE— kcal 1840 + 518 1752 * 562 0.07
f=AECE g 69.2 + 23.1 684 =+ 232 0.72
Bt f-AISCHE g 391 + 192 402 -+ 180 0.48
EhtE-AIEE £ 301 + 79 282 + 94 0.02
% B g 560 =+ 205 516 =+ 187 <0t
it g 288 + 134 265 =+ 116 0.03
WhttiEs g 272 *+ 103 251 + 105 0.02
SIS RS g 150 £ 64 133 + 53 <.001
—{fi A Fais h sk g 193 + 74 180 =+ 6.9 0.04
Z M Ra LBk g 144 + 50 129 =+ 49 <.001
HAKCE g 2590 + 773 2374 + 910 <01
af g 113 + 92 104 =+ 70 0.15
7iLa—iL g 20 + 60 94 + 220 <.0001
7. g 17103 + 4259 18374 + 5787 <01
vl I Ly NN mg 4482 = 1130 4620 + 1434 0.24
vl Ao N mg 2302 + 724 2650 + 889 <.0001
HIa L mg 500 + 184 551 &+ 216 <01
L/ Sy FN mg 249 + 68 255 + 81 0.38
1 mg 1034 + 332 1041 + 350 0.81
&% mg 72 x 2.1 76 + 25 0.04
iy mg 81 + 23 79 * 26 0.22
& mg 1.2 + 03 12 + 04 0.17
TH mg 34 + 09 33 + 1.1 0.05
LF/—JL He 307 + 188 351 + 219 0.02
HoF e 2715 =+ 1573 4178 + 2252 £.0001
EAIA M gRE 758 + 368 1043 =+ 487 <.0001
4320 teg 133 * 93 128 *+ 87 0.59
E43VE mg 85 + 30 88 =+ 33 0.19
E43I2K ne 365 + 149 422 * 171 <0001
E#43B, mg 079 =+ 0.25 0.83 =+ 027 0.13
438, mg 118 =+ 038 131 + 042 0.001
FAT mgNE 156 + 63 165 + 6.1 0.09
F43B, mg 12 + 04 i3 =+ 05 <01
v4328, e g3 =+ 52 93 + 51 0.5
BN Ug 282 + 100 349 + 126 <0001
RUbTUR mg 60 =+ 18 64 =+ 20 0.03
4320 mg 96 + 40 142 + 62 <0001
I AFAa-—j mg 3008 + 138.1 3268 + 1473 0.04
KB RH g 24 + 089 33 + 13 <0001
Bt g 83 + 25 97 =+ 35 <0001
L g 111+ 34 134+ 48 £.0001

—77—



#4 BALHASOSOEROBEDIBHEYORERBRE CREERE)

_ ¥HE (n=70) HEHE (n=294) P
t-AIFE %EI 133 + 20 145 =+ 30 <01
BiE-AEE 96El 73 x 21 87 * 31 <001
WA LCE 96EI 60 =+ 09 58 =+ 1.1 0.22
31 9%El 206 * 46 236 * 66 <.001
SttisE 9%E[ 109 =+ 34 127 =+ 47 <ol
WIMEREE 9%El 86 =+ 2.7 109 + a8 0.0t
fATBE b 9%El 52 + 13 59 =+ 20 <01
— T REf s A %EI 71 + 18 84 + 26 <0001
SiETfafnishh Rk 96El 56 + 1.3 60 * 17 0.03
Bk %E! 566 + 6.6 502 * 95 <.0001
Lafs 9%EIl 12 + 09 16 =+ 13 0.01
ZiLa—i 9%El 80 + 75 108 =& 110 0.05
XK g/1000 kcal 9638 =+ 2213 10706 = 2098 <001
FrUD L mg/ 1000 kcal 2135 £ 451 2395 * 556 <.001
ULy ¥ A mg/ 1000 keal 962 =+ 183 1208 =+ 328 <.0001
1), 57w FN mg/ 1000 keal 206 + 71 240 *+ 102 0.01
RIT P A mg/ 1000 kcal 116 =+ 20 128 =+ 26 <.001
o mg/1000 kcal 4388 =+ 77 533 + 116 <01
& mg/ 1000 kcal 32 + 06 37 + 09 <0001
qR R mg/ 1000 kcal 40 * 05 42 =+ 08 0.10
| mg/1000 kcal 06 =+ 01 06 =+ 0.1 0.19
TR mg/ 1000 kcal 1.7 = 04 18 =+ 04 0.49
LF/I—I 1t g/1000 kcat 168 =+ 122 201 =+ 180 0.15
yalal Y 1t g/1000 keal 791 + 508 1546 + 889 <.0001
EAzA 1t gRE/1000 kcal 209 + 148 457 + 241 <0001
EA32D 1t g/ 1000 keat 62 + 33 64 =+ 37 0.67
EAa3E mg/ 1000 keal 33 + 08 41 + 13 <000t
E423K 1 2/ 1000 keal 148 =+ 61 191 =+ 88 <001
EAa3UB, mg/ 1000 kcal 0.34 =+ 006 040 =* 0.10 <0001
438, mg/ 1000 kcal 053 =+ 012 065 =+ 0.19 <0001
FAT mgNE/ 1000 kcal 77 = 1.8 94 + 23 <.0001
EA3B, mg/ 1000 keal 06 =+ 0.1 07 + 0.2 <0001
E423uB,, 1 g/1000 keal 49 =+ 20 52 4+ 24 0.38
.4 1 £/1000 keat 117 + 32 162 + 55 <0001
NTUB mg/ 1000 kcal 28 + 04 32 * 07 <.001
2320 mg/ 1000 keal 323 =+ 115 539 =+ 232 <0001
abZAFn—i mg/ 1000 kcal 1416 = 477 1689 + 64.7 <01
AEEE D g/1000 keal 09 =+ 03 14 =+ 05 <0001
Auitahgyg g/1000 kcal 34 + 07 41 + 1.2 <0001
B 1000 keal 45 + 19 56 + 17 <.0001

El= TR NLX—{EIE




#5 BBIEBEADSBROLEDIBSHLYORESERE CREXRA)

HE (n=182) HES (n=473) P
/34 06 El 151 =+ 26 158 = 30 <01
EtE - AAS<CH 9%El 84 + 28 93 =+ 3.1 <01
EDE-ASKE 9%El 6.7 =+ 1.1 65 + 10 0.09
BH 9%El 272 + 53 267 *+ 59 0.27
DitiEE 96E! 139 =+ 41 137 =+ 44 0.56
e 9% El 133 + 37 130 + 40 0.34
A A ih ik 9% El 72 + 18 69 + 19 0.05
—{fi A~ k3 #0 B A Bk 9%EI 94 + 2.1 93 + 23 0.74
ZETIRMISE 9%El 71 £ 16 67 + 16 <01
imKi{tH 9%EI 563 =+ 65 541 =+ 84 <01
ot 9%EI 24 *+ 16 24 £ 15 0.69
FILa—1L 9%El 08 =+ 21 36 + 7.3 <.0001
XK g/1000 keal 9560 =+ 1997 10678 + 1936 <0001
wal ULy FN mg/ 1000 kecal 2507 =+ 511 2705 =+ 610 <.0001
HUD L mg/1000 kcal 1271 + 278 1541 + 360 <.0001
T L mg/ 1000 keal 275 + 79 321 + 109 <.0001
EvE Sar N mg/ 1000 kcal 138 + 26 148 + 28 <.0001
o mg/1000 kcal 565 + 94 600 + 120 <0001
&% mg/1000 kcal 40 + 08 44 + 09 <0001
EN mg/1000 kcal 45 + 06 45 =+ 0.7 0.32
R mg/ 1000 kcal 07 = 01 0.7 = 0.1 0.96
A mg/ 1000 kcal 1.9 + 04 19 + 04 0.48
LF/—I 1 £/1000 keal 166 =+ 93 201 * 103 <0001
ya]mb ) 1t 2/1000 keal 1508 =+ 837 2431 + 1183 <0001
E4a3A 1 gRE/1000 keal 416 =+ 183 603 + 230 <.0001
E432D 1t &/1000 keal 71 + 38 73 £ 43 051
EARIVE mg/ 1000 kcal 46 =+ 1.1 51 =+ 12 <.0001
EA3IUK 4 g/1000 keal 205 =+ 83 249 =+ 96 <.0001
FA43UB, mg/1000 keal 044 =+ 008 048 = 0.10 <.0001
E4=u8, mg/ 1000 kecal 086 =+ 0.15 076 =+ 017 <.0001
FTAT mgNE /1000 kcal 85 + 23 95 + 23 <0001
E42VB, mg/ 1000 kcal 0.7 * 01 08 = 02 <.0001
E4328B,, 1 g/1000 kcal 50 + 2.1 53 + 23 0.17
p: 1.5 1 g/1000 keal 157 =+ 49 203 = 57 <0001
INMTFUBE mg/ 1000 kcal 33 + 05 37 *+ 07 <.0001
E432C mg/ 1000 keal 53 + 19 83 =+ 30 <.0001
aLAxFo—jb mg/ 1000 keal 1620 =+ 535 1879 * 655 <.0001
KEE By g/1000 keal 1.3 + 04 19 =+ 05 <0001
TEEEDEY £/1000 kcal 46 + 1.0 56 + 14 <.0001
LEhisid g/1000 keal 61 + 14 78 4 20 <000t

El= TR FX—EIE
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